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Time: 10 Minutes | Paper Math 8 (T-4) |  Total Marks: 10 |

| 6th Month, 3rd Week, 4th Day |  Ex.55Q#(13,14,151617) |
¥ Answer the following questions: (2 x 5=10) - ,,.,lzé.;,mnj" 310%)

(i) A fair dice is rolled. Ahmad wins the game if the result is either odd or
divisble by 6. What will be the probability of winning the games for
Ahmad?
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(ii) A bag contains 3 red hairpins, 5 black hairpins 5 green hairpins and 2
blue haripins. Find the probability of selecting
(a) ared pin or a blue pin
(b) agreen pin and black pin (in same order)
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